@ Divid ;h} Pr&\ novniad s

E{vxew 37 £
s, =12 =4
E 5/)37

\-)s-B‘L
o7
-6

W ke faclomed Hhi ,w%

Cwee =0



—

@

{W\ﬁ dvide 4o erilluity 74143_ ‘70{07[7,@%

v3.12¢ x*45x+28 vl
- X-5 ) x>+ 0Ox*+0Ox-126
- x|
5’}2-1-0)(
f@ytfiv
B 2Sx 126
— (2 Sx=1257)

=1

5x-175

X2+Ox—1,5X7+OK3~3XZ+SX’”
-0 xT) 4

——

— 22X+ Sx — ||
:‘(—*Z)(’Z‘I*Ox +Z>
ﬁ__s—\x—lg -

B L O IR -
Ans. %—3}(&4-,(& iy sj :(s/
_ e e




—

@
A whin. Hoo denorirodon o Ak, bi-

V\,OVV\I\A/Q / W 8 s ,(A/ow-f QMWW
el s BESAE YIRY

% = B ot - llx +34
I'ZKI I —aK T R-Y Xt% J 3 ~20™ =Y
+3 3x? +‘?‘L\(
-1y ¥
(=330 A
3Yx -4
(3% +102)
}7)(3/2)(1+X~i . 3)( 7__'!7{ _}3(_/’ ﬁgﬁ ~ {6
bl o X173

of @‘ rx-Y = (31w H3 v) (3 )ﬁ

= 530\14/\0)(7 QL(V (dewrkalsw must—loe ,@AW)

/“_3 FS _Ll ll 107,\[
WZJJ& 5 T[PQS%/EJO_@&WM

= N
C>< +>>) msinde,

L 2
?ﬁ __ZX +X"L( ;3 —le__‘_g({ loa
X+ 3 Xr3




SXT_2x" % -4

= x (3x=2x H) |
:X(X(3x-2)+13“‘/

X430
X<3 f(-3) = -3 C—B (2‘-—(:13) -2)) 1—/) ~Yy
3( -4 -2)
50 i )
-3 vq )=

- %\,\,31\.{,@ with 3.5 ((awf‘ﬂmost)
Lo



